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7HNDQDQ�GDUDK�PHUXSDNDQ�IDNWRU�\DQJ�SHQWLQJ�GDODP�VLVWHP�VLUNXODVL�SDGD�PDQXVLD��%LDVDQ\D�

GRNWHU�DWDX�SHUDZDW�DNDQ��PHPHULNVD�WHNDQDQ�GDUDK�SDVLHQ�PHQJJXQDNDQ�7HQVLPHWHU�GHQJDQ�FDUD�

NHUMD�PDQXDO�� VHSHUWL� WHQVLPHWHU� DLU� UDNVD��.HPXGLDQ� SHUDZDW� DNDQ�PHQFDWDW� GHWDN� QDGL� GHQJDQ�

PHUDVDNDQ�GHWDN�QDGL�SDVLHQ��0HQXUXW�GDWD�:+2�GL�VHOXUXK�GXQLD��VHNLWDU�����MXWD�RUDQJ�DWDX�������

SHQJKXQL� EXPL�PHQJLGDS� KLSHUWHQVL�� DQJND� LQL� NHPXQJNLQDQ� DNDQ�PHQLQJNDW�PHQMDGL� ������ GL�

WDKXQ������ 2OHK�NDUHQD�LWX��GDODP�3UR\HN�$NKLU�LQL�DNDQ�PHPEDQJXQ�VHEXDK�DSOLNDVL�SHQGHWHNVL�

WHNDQDQ�GDUDK�EHUEDVLV�ZHE�GDQ�DQGURLG�GHQJDQ�FDWDWDQ�DGDQ\D�����MXWD�SHQJJXQD�DNWLI�VPDUWSKRQH�

EHUEDVLV� VLVWHP� RSHUDVL� DQGURLG�� 'HQJDQ� PHWRGH� $QDOLVLV� .HEXWXKDQ� GDQ� GHVDLQ� VLVWHP� GDSDW�

PHPEDQWX� WHULQWHJUDVLQ\D� DODW� WHQVLPHWHU� GHQJDQ� VPDUWSKRQH� VHKLQJJD� SHPEXDWDQ� DSOLNDVL� LQL�

PHPLOLNL� NHVHVXDLDQ� NHEXWXKDQ�� SHQ\LPSDQDQ� GDQ� HILVLHQVL�� 'HQJDQ� DGDQ\D� DSOLNDVL� LQL�� SURVHV�

PRQLWRULQJ�GDQ�SHQ\LPSDQDQ�GDWD�NHVHKDWDQ�SDVLHQ�PHQMDGL�OHELK�PXGDK�GDQ�HILVLHQ��NDUHQD VLVWHP�

SHQJXNXU� WHNDQDQD�GDUDK�GDSDW� ODQJVXQJ� WHULQWHJUDVL�GHQJDQ�ZHE�GDQ�DSOLNDVL�\DQJ�GDSDW�GLOLKDW�

PHODOXL�VPDUWSKRQH��
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